
 

 

 

 

 

 

 

 

 

Q 3 

Q  4 

Q  5 



Q 6 2 

75 = 0.75 

40% = 2/5 

15% = 15/100 

50% = 0.5 

Award 1 mark for 

any two correct 

answers. 



 

14
2

3

 4
2

3
=

14

3
=

28

6

 
1

3
=

2

6

 11 ×  £4.50 =  £49.50
 10 ×  £4.50 =  £45 £45 +

 £4.50 =  £49.50

  

 

Q 7 

Q 8 

Q 9 

Q 10 

Q 11 



 

 132 ÷ 6 = 22, 
      88 ÷ 22 = 4

 
88

132
=

8

12
=

4

6

  

Q 12 

Q 13 

Q 14 

Q 15 

Q 16 

Q 17 



 

Q 18 

Q19 

Q 20 

Q 21 



Q 22 3 

No 

15 x15 = 225m squared 

13 x 25 = 325m squared 

Total =550m squared 

 

350 x 2 = 700  

700m squared for 10 

sheep 

Award up to 2 marks for 

correct method with in-

accuracies of  

Calculation. 

Q 23 

Q 24 

3x = 3 X 2 = 6 

 

2y + 6 = 12 

 

2y = 6 

 

Y = 3 

2 

Award up to 1 mark for 

correct method with in-

accuracies of  

Calculation. 

No 

 

An answer which 

demonstrates an under-

standing that 2 is a 

prime number and is 

regarded as equal, as it 

can be split into two 

equivalent integers. 

2 

Award up to 1 mark for 

correct answer with an 

under developed  

explanation. 



 

11
2

3
 

Q 25 



Q 26 2 

A) One in eight  

or 1/8  

or equivalent fraction  

 

B) Spinner B  

Demonstrate an under-

standing that a half is 

larger than 3/8–  

therefore a higher  

probability  of landing 

on 1. 

 


